Transformations of Functions Practice name

Describe how the graph of g is obtained from the graph of
Jf- (Do not sketch the graph.)
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Describe how the graphs of each of the following
functions can be obtained from the graph of y = fix).
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Transformations of Functions Practice

Matching. The left-haud column contains equations that

vepresent transformations of f(x)= x*. Match the

equations on the left with the description on the right of
how to obtain the graph of g from the graph of /.
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Retlect m the xv-axis.

Shift left 4 units. then
reflect in the r-axis.

Reflect 1 the v-axis.
then shift downward 4
units

Shift right 4 unts,

Shift vight 3 units. then
reflect in the v-axis. then
shaft upward 4 unirs.

Shift upward 4 vnits,
Retflect in the yv-axis,

Shift left 4 units. then
shaft upward 3 units.

Shuft left 4 wauts.
Sluft downward 4 units,

Stretch vertically by a
tactor of 4.

wlaeds vertically by a

‘-m factor of 1.



